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- HIGHLY ERODIELE LAND CLASSES - HIGHLY ERODIELE AND
1 = HIGHLY ERIDIBLE LAND FOTENTIALLY HIGHLY ERODIRLE
Z = POTENTIALLY HIGHLY ERCODIELE LLAND CACULATOR VER 1.1
I o= NOT HIGHLY ERODIRBLE | WIND ERDOSIION WATER EROSION
MAF C 1 HEL. R K T SLOFE- PERCEN SLOFE--LENGTH LS~ VALUE HE
MUID SYMEOL SOIL. NAME % VALUE  VALUE CLASS VALUE VALUE VALUE MIN. MAX. MIN, MAX . MIN. MAX . aT/RE CLA
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O12ANA ANA ANDOVER 1 100 0.2 125 3 Q 3 100 400 0. 435 ]
O12ANE ANE ANDOVER 1 100 0.2 1258 3 2 k=] 100 400 1 .28 =
O1ZANC ANC ANDOVER 1 100 0.2 128 3 k] 15 100 400 B.119 1
O12ANR AL ANDOVER 1 Q.8 =5 ] e o 100 400 1,982 5 &
QL2ALC ALC ANDIVER 1 [l 125 ] = 15 100 400 0,291 B.llw 1129 =
O1%AR AR ARENTS 1 &0 (o 126 100 400ERROR ERROR ERROR ERRO
017AR AR UREAN LAND 2 20 4 0.2 125 o] 15 100 400 Q.0&6% 5. 119ERROR ERRO
O12AT AT ATEINS 1 100 Q.8 125 4 o] b 100 400 O.435 0,200 3
O1PEEA EEA BRACEVILLE 1 100 Q.2 1258 3 0 = 100 400 Q.06% Q. 4325 0L.200 e
O1YRER BER ERACEVILLE 1 100 Q.8 126 ke 3 = 100 400 Q.22 1,982 0,200 =
Q19BEC BEC BRACEVILLE 1 100 Q0.2 125 b = 1% 100 400 0,291 1
O17ERA ERA BRINEERTON 1 100 Q.8 128 k] [a] b 100 400 0.06% 3
{ O17BRE BRE ERINKERTON 1 100 [ 125 ] k] = 100 400 0,287 1,922 0,800 pod
QLUPERC ERC BRINEERTON 1 100 0.2 125 i =] 15 100 400 0.921 - H.119 0,400 1
017BUR EUB BUCHANAN 1 100 0.8 128 3 ] 2 100 400 Q.287 1.282 0,400 P
O12RBUC BUC EUCHANAN 1 100 0.8 125 e = 15 100 400 0,991 B.11% 0,400 1
Q1 2BXE XEB BEUCHANAN 1100 0.8 125 e k] = 100 400 0,28 1 P82 0.200 =
Q19BN BEXD BUCHANAN 1 100 0.2 125 o] a8 15 100 400 0,971 0L 200 i
012CDh D CANADICE 1 100 0.5 125 <] Q 3 100 400 0,069 0, &5E e
O19CEA CEA CANEADEA 1 100 0.2 42 125 e [s] ] 100 400 0.08% QO.447 =
O12CER CER CANEADEA 1 100 Q.3 42 125 = ] & 100 400 0,287 O.447 &
019CEC CEC CANEADEA VARIANT 1 100 0.8 42 125 3 ) 15 100 400 0,921 0.447 i
019CED CED CANEADEA VARIANT 1 100 Q.2 43 128 2 15 28 100 400 2,559 0.447 1
O19CLA CLA CAVODE 1 100 0.8 125 3 Q 2 100 400 0.06% 0.435 0,819 ]
O19CLB CLE CAVODE 1 100 0.3 128 e e = 100 400 Q.82 DELE 0519 =
019CLC CLC CAVIODE i 100 0.8 128 b ] 15 100 400 0.519 1
Q12CLD cLD CAVIDE 1 100 0.3 128 = 15 28 100 400 11.730 0519 1
Q12CME CME 1 100 = 125 e 2 o 100 400 1.982 =
O19C0A COA 1 100 a 125 3 o] 3 100 400 QL4385 =
O19COR COR : 1 100 = 128 3 ] ] 100 400 Q.287 1982 Z
O12¢C0C coc COOEPORT 1 100 ] 126 3 = 18 100 400 0.9%1 g.11% 1
O12COD (x} ] COOEFORT 1 100 2 128 k] 18 =5 100 400 .88 11.720 1
0127DD DD DUMFS 1 100 = 128 100 400ERROR ERRDR ERROR ERRD
O1oDM DM DUMFS 1 100 = 125 100 400ERROR ERROR ERROR ERRO
O17ERE ERE ERNEST 1 100 2 125 O.43 ] ] = 100 400 0,287 1.782 0.447 =
0O17ERC ERC ERNEST 1 100 0.8 125 Q.43 = =] 15 100 400 0,991 E.11% 0.447 1
Q19FC FC FLUVAQUENTS i 100 0.2 12 Q = 100 400 0.08% 0, 428ERROR ERRO
QL9FEA FEA FREDION 1 100 0.8 125 2 Q 2 100 400 0.0&% 0,428 O.484 ]
01?FER FER FREDION 1 100 0.3 128 3 3 2 100 400 0,237 1,988 0,624 ps
O19FRA FRA FRENCHTOIKN 1 100 0.8 4 128 2 o 2 100 400 0.04% 0,428 0,519 2
0O19FRE FRE FRENCHTCIWN 1 100 [ = 42 125 3 i = 100 0,237 1.928 0,519 z
O19GLE GLE GILFIN 1 100 0.3 125 e 3 = 100 0257 1 .9EE 0.E00 &
019GLC GL.C GILFIN 1 100 0.2 125 ] ] 15 100 Q.9%1 S.11% 0,400 1
i 0126GMD GMD GILFIN 1 100 0.8 125 ] 15 25 100 2.88% 11,780 1
0O19GNC GNC GILFIN 1 &0 0.2 1258 3 = 15 100 Q.721 .19 1
& O19GNC GNC UFSHUR 2 30 0.2 128 3 2 16 100 [0 S.11% i
019GND GND GILFIN 1 55 Q.2 125 I 15 Z8 100 .88 11,780 0,800 1
O17GND GND UFSHUR 2 28 Q.2 125 e 15 ot 100 ZLEET 11,730 0.447 i
019G0R GOR GILFIN 1 5O 0.2 125 Q0.2 e b = 100 0.227 O, B0 &
019G0R GOE WEIKERT 2 I8 0.8 1286 0.2 = 3 = 100 Q. 487 &
019G0C Gac GILFIN 1 5O 0.2 126 0. I = 15 100 400 F.119 0,200 1
01960C GoC WEIKERT 2 25 0.8 125 0,28 = = 15 100 400 B.11% 0,487 1
01960D GOD GILFIN 1 B8O Q.2 128 0.24 = 1% 28 100 400 11.720 0,800 1
019G0D GOD WEIKERT Z 40 0.8 125 Q.28 e 15 et ] 100 400 C1LLTEO 0,457 1
[aR s m] = [edul= STERTN 1 AF M. = 15™ O.F4 = i 100 400 FO 444 OOROO 1




GIOF GILFIN i I 100 400 i

GOF WETEERT = Z 100 400 1

GFC GILFIN 1 = 100 400 0L AQ0 1

OLPGEPC GFC WHARTION = =5 Q.37 a3 100 400 [ 1
O19GFD GFD GILFIN 1 155 0.Z4 =2 100 400 1
O12GFD GFD WHARTON = Z5 Q.37 = ; 400 1
O19GRA GRA GRESHAM 1 =) 125 =7 4 e 400 b
O1PGRE GRE GRESHAM 1 Ba 128 0,37 4 o 400 Z
O17GERC GRC GRESHAM 1 Fid 125 0.37 4 = 15 400 1
O19HAE HAE HAZLETON 1 128 0.17 3 3 k] 400 s
O17HAC HAC HAZLETON 1 12% 0.7 3 = 15 400 =
O17HAD HAD HAZLETON 1 126 0.17 2 15 58 100 400 1
019YHAE HAE HAZLETION 1 1258 0.17 b P 8 100 400 1
O1PHER HER HAZLETIN 1 128 0.15 ] = b= 100 400 =
O17HGED HGD HAZLETIION 1 BS Q.2 1268 Q.15 = 15 =5 100 400 1
Q1YHED HGD GILFIN &30 Q. 128 Q.24 3 15 bt 100 400 Z 1
01 YHGF HGF HAZILETON 1 &0 0.5 126 Q.15 = =5 a5 100 400 & 1
O1VHGF HGF GILPIN & 28 0.2 128 0.2 2 =6 5 100 400 & 1
Q19MOE MO MIONONGAHELA 1 100 « 0,5 125 Q.43 3 3 = 100 400 Z
O12Mac Mac MONDNGAHEL A 1 = 128 0,473 ] = 15 100 400 O 1
O1%FH FH FHILD 1 = 125 Q.37 5 Q o 100 400 0,067 Q. 438 L =
O1%FN N FITS 1 Q.= 1258 100 400ERROR ERRIOR ERROR ERRO
0O127P0G P FOPE 1 1258 5 Q k] 100 400 0,067 e ]
017RDE RDE RIVERHEAD 1 100 1258 B e o 100 400 =
‘ 01 7RDC RDC RIVERHEAD 1 100 125 = 15 100 400 1
OL9TAA TAA TILSIT 1 100 128 = 4] ] 100 400 QL0687 3
O12TAR TAR TILSIT 1 100 128 3 i ] 100 400 0.287 &
O19TER TER TITUSVILLE 1 100 ) 125 4 2 b 100 400 0,287 =
Q19TEC TEC TITUSVILLE 1 100 Ba 128 4 2 15 100 400 0.791 1
Q19TRD TRD TITUSVILLE 1 40 B 128 4 15 5 100 400 Z.55% i
Q19TRD TRD RIVERHEAD Z 0I5 125 3 15 P 100 400 .55 1
O1%UAR UAE UDORTHENTS 1 100 0 o 100 400 G067 1. 9EZERROR ERRO
0O1%UAD UAD UDORTHENTS 1 100 0.2 b= pat=) 100 400 0,971 11.780ERRIR ERRO
O19UAF UAF UDORTHENTS 1 100 0.2 Pt 0 100 400 5,890 A4, TESERRIR ERRO
019UCD ucn UDORTHENTS 1 100 0.3 B Z5 100 400 11, 720ERROR ERRO
O19UCF UCF UDORTHENTS 1 100 Q.2 =5 =0 100 400 &b TEEERRIOR ERRO
oawtmw UER URBAN LAND 1 70 0.8 (o] = 100 400 1 PEZERROR ERRU
O17UER UEE ERNEST 2 1% 0.8 e 2 = 100 400 ; 0.447 Z
' O19UEC UeC URBAN LAND 1 70 0.3 = 15 100 400 . 11PERROR ERRD
O17UEC UEC ERNEST 2 15 Q.= k] = 15 100 400 = B.119 0.447 1
0192UGD uan UREAN LAND 1 70 Q.2 15 &8 100 400 2,859 11.720ERROR ERRO
012UGED UGD GILFIN 2 18 0.8 1256 0.84 3 15 25 100 400 Z.BEY  11.780 0.200 1
N O12VCR VCB VANDERGRIFT 1 45 0.8 125 Q.28 3 ] = 100 400 0,257 1982 O.638 Z
O19VCE VCE CAVADE £ 3B 0.2 125 0.37 3 2 = 100 400 0287 1,928 0.B1¢ Z
Q19VCC Ve VANDERGRIFT 1 45 0.8 126 Q.25 3 = 15 100 400 5,119 = i
012VCC VCC CAVODE PR <] 0.5 125 0.37 =2 = 100 400 B.i1% k4 i
019VCD VD VANDERGRIFT 1 40 0.8 bt Q.28 e 15 100 400 Z.8557  11.720 & 1
O1%VCD VCD CAVIDE £ 2B el 128 Q.37 = 15 100 400 2,852 . 11,720 4 1
017HWAA WAA WHARTON 1 100 0.2 1265 Q.37 2 [a] ] 100 400 O,06% 0,435 @ 2
O17WAE WAL WHARTON 1 100 0.2 125 Q.37 ] = = 100 400 1,988 0.519 =
O19WAC WAC WHARTON 1 100 0.2 1258 0.37 e ] 15 100 400 0,991 S.11% 0.81% 1
H O197WHA WHA WHEEL ING 1 100 0.2 125 Q.37 4 0 3 100 400 0,067 Q. 435 : k]
O19WHE WHE WHEEL ING 1 100 Q.5 125 0.37 4 3 = 100 400 0,287 | 1.98& 0.4%2 =




